osmosis?


https://www.youtube.com/watch?v=HqKlLm2MjkI

permeable membrane Is a special case of passive
transport called osmosis.

Osmosis Is dependent upon the osmotic
concentrations of the two solutions on either side of
the membrane.

Osmotic concentration refers to the total solute
concentration In a solution. A solute is the
substance that has dissolved in the solvent (water).



selectively permeable membrane:

» Hypertonic = solution with the high
concentration of solute (more salty)

» Hypotonic = solution with the lower
concentration of solute (less salty)

e |sotonic = solution with the same
concentration of solute
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Selectively permeable membrane
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solution where they
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- Osmosis continues
u nti I th e SO I uti O nS Selectively permeable membrane
are isotonic.




is makes sense because the total solute concentration is
an indicator of the abundance of bound water molecules
(and therefore of free water molecules).

*When two solutions are 1sotonic, water molecules
move at equal rates from one to the other, with no net
0SMOSIS.



